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East Central Railway, Danapur Division

gonfraftr Rarr § 26% @ADL Per B wwa FIREE-I @) @ 77 W Rl ¥ ol o
Written examination of selection for promotion to the Post of Tech - Il (Welder) against 25% LDCE quota in

Engg. Department.

| Date of Examination: 23.04.2023 Time: 2 &2 /2 Hour Total Marks: 100

e fdw- Fom Iar foed @ g Feafafea P o gwt # am gde @)

General instruction: - Please read all the instruction given and against the questions carefully before answering.

yeEt &1 IR OMR gRast & & o)

Answer must be given in OMR sheet only.

gr-v3 fewmdta B | 60 N et & Rl aws @ wew urn wmn & ot sw@t son wu &) A gv |
Question paper is Bilingual. In case of any doubt question in English version will be valid.

TH 9 GRS A FA 110 T[T TRIS T & | IOTAINT @ GaTed 9 HAB 101 A 110 H 8 |

3 | This question booklet consist total 110 Multiple choice objective type question. The questions
related to Raj Bhasha are from question number 101 to 110.

T I8 GHRET X 6 9 73 § g1 110 99 W w9 § Abd 8

Kindly confirm the question paper in printed completely with all 110 questions.
wmw%1oou¥a‘fm£rmilwmanﬂaaﬂ1mwﬁ%aﬁmmwm?ﬁmﬁuﬁ#mm
5 | v &1 & qouie far s

Candidates have to give answer of 100 questions.

STUTTY T 91 100 41101 110 BT IR & 1 [9hed G 93 B

Candidates may opt giving the answer of the question number 91 to 100 or 101 to 110.
U HHB 01 Y 90 0 M &

From question no 01 to 90 are compulsory

UY 8191 ¥ 100 G faded T @

From question no 91 to 100 is option “A”

Y HHID 101 H 110 T [Abed "a (RTSTHNI) ©

From question no 101 to 110 is option “B” (Rajbhasha)

7fe 3 91 @ 110 0 QI el (T & oY) 1 YA B &, o had UGS 97 ¥ 100 TP P Jegid fHaT G

10 | If candidate attempts both the options (A & B) from 91 to 110, only question number 91 to 100 will
be evaluated.

SER 20 ¥9T = < 5 OMR IRaar # Ry 1v Raedt @ daa a0 /A 1 @ dfd @Ee 9 | W)
11 | M IBR & A 99 /9 S g afdfa g

Candidate has to use only Black/Blue ball point pen while answering the OMR sheet.

Tl FUI T e BN S ag-fAdmeda § R T IR B 6 A1 YBR § BR-BIE, TG, M,
mwﬁ%ﬁmmmmmﬁﬁmﬁaﬁ%mﬁmmmwﬁmmtgﬁ
TR BT qeArH 71 B s |

Candidate may please note the any type of corrections including cutting, overwritten & erasing and
modifying the answer in any way etc., is/are not permitted. In case a correction is made that
answer shall not be evaluated at all.

Tl 5 GARa aX [ SR T /MTHAR, e TR Ao 4R, GeTH, I AR I Fawor 18 e e |
v 9 @ ford | g6 e fer o i W ge o foree argfe A S | 3% SR vl @ e
) farar g SR 9 SR AT TG |

13 | Candidates must endure Roll No., Name, Designation, station and other particulars as specified
may be written by the candidates only at the appropriate places provided for the purpose on the
answer paper/OMR sheet and not anywhere else which will be treated as unfair means and such of
those answer papers will not be evaluated and treated as disqualified.

TE & AR (G A AV B HATAR WIHR T8 [HA T, T P W NS (s e s |
Gffaa 21 oot oden gfa @ sy A oE @ goEEife ST A W A SRR T B T P
g 9 Bl @ orafd aw 39 Frfies @ P % var smem)

14 | No malpractice will be acceptable in any form, If any candidate involved, the start department
action will be initiated. No electronic gadgets are permitted inside the examination hall and the
same may placed under self-custody of the invigilator till completion of examination and
permission is granted by invigilator to leave the premises.

15 | g e 2 fs il @) qd st @ fan @) 089X BT c I GO B e @1 o 8 |
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................. TG A e B aavadar sy 8

) 2 ) 3 & 4
In Concrete sleeper ..., No. of Liner is required.
— | b) 2 ¢)3 d) 4
2 FHE W ¥ W U8 @) dem @) smavaaa g 8|
T) 1 ) 2 ) 3 #) 4
In Concrete sleeper ...................... No. of Rubber pad are required.
a)1 b) 2 )3 d) 4
3 it oy W W IYAS B o 8 |
V) 52 fasm 3l s2 s @) 6o fur 3k 60 P ) 90 AR 3R 90 A &) 52 T 3 60 AT
Combination fish plate is provided at .......... rails.
a) 52 Kg & 52 Kg. b) 60 Kg & 60 Kg. c) 90R & 90R d) 52 Kg & 60 Kg.
e o e o R4 sk
7) |9 &) geeht ) arctfen d) Bre
Who won FIFA World Cup football 2022?
a) Spain b) Italy c) Argentina d) France
5 I LY. 2023 F b O fRw—m A 7
Q)8 ) 12 M) 10 & 1
How many teams participated in IPL 2023?
a)8 b) 12 ¢) 10 d)11

6 WRA # F1S Gl XeTd e @ Aerg o o B 1
Q) 5 ¥ 3 §9 MNsPcesa Maverga sHeazgy
What is the width of broad gauge railway line in India?

a) S Feet 3 Inch b) 5 Feet 6 Inch c)4Feet1linch d)5Feet4Inch
7 RER B! IS e fbw 78 @ [6R W) a9 &)
T) WEER ) garadh ) m ) Merad
Capital of Bihar Patna situated on the bank of which River.
a) Mahanadi b) Indrawati c) Ganga d) Godavri

8 WA W AQ GRI GeA 4 B GX 98 9 AR (RO 39 1 e el a1 59 9 Ras |

T) 10 Faw=R 2022 ) 27 5 2023 W) 11 S 2023 €) 10 JraRE” 2022
Prime Minister Narendra Modi flagged off first Vande Bharat express on Patna - Ranchi route on which date.
a) 10 November 2022 b) 27 June 2023 ¢) 11 January 2023 d) 10 October 2022

9 TRl WA TWI 64 AR @ (59 o0 ¥ Red 81
T) 3ifeem &) e drer ) SRR <€) IRES
TATA steel plant located in which state of India.
a) Odisha b) West Bengal c) Jamshedpur d) Jharkhand
10 g T B g e 2 ”
T) 1676 ) 1000 ) 1600 ) 1750 =
The broad gauge distance is .......... mm,
a) 1676 b) 1000 ¢) 1600 d) 1750
11 o) 0B ADR B |
7) 9 & ) vufe aReR § W) T E D) T Q o
Leave is a Right.
a) True b) Constitutional Right c) False d) None of these

12 . AR IASH BT QX AH T E | '
Q) ¥R el sidsay f)) Aol v e Jf) qERIRY iR sieaR B)) I I IRTH
What is the full name of B. R. Ambedkar?

a) Bhimrao Ramji Ambedkar b) Bhimji Rao Ambedkar | ¢)Babasaheb Ramjirao Ambedkar d)
Baba Ram Ambedkar
L 4
13 HTPIA dq B ATAGN] B (Y ATH AHABTE T . SRS
1) 15 R ) 30 fa= ) 25 fm ¥) 40 R

For encasement of leave salary, minimum leave balance should be ............ days.
a) 15 Days b) 30 Days c) 25 Days d) 40 Days




proceedings?

T) TATP—11 'wmwwﬁ_?mmjﬁmmwmmuWMWm
Which number of standard form is u.sed for issuance Sl Ehigmt 5 iy 2

of major penalty charge sheet on disciplinary

a) SF-11 b) SF-7 !
== L T ¢) SF-5 d) None of these
Y) 10 R #) 20 R ) 15 R #) 20 R
Paternity leave is granted for...........
a) 10 Days b) 20 Days ¢) 15 Days d) 30 Days
16 W?ﬁﬁmﬁvamﬁmﬁa%améum)l ! e
Y) WA ) it for oY) mfer &) wray v
Which country host 2023 ICC cricket world cup.
b) India b) Australia c) Pakistan d) South Africa
17 I6Y 3 fAva U 8GR a9 A o |
T) S &) ara ) araer B &) sireferar
Which country won men’s Hockey world cup 2022.
a) Germany b) India ¢) South Africa d) Australia
8 o Br=r & o oo &0 3 9 o § 2 WS W 3/6 9 g & 7t Pt @ |
T) 1/2 N 1/3 W) 3/2 8 2/7
Adding 2 to the numerator and denominator gives 3/5 then what is the original fraction.
a)1/2 b) 1/3 ¢)3/2 d) 2/7
19 (10,000 + 50) X 5 2 wviuinissnisussins
a) 100 b) 1000 ¢) 2000 d) 40
20 (33x3)+(343) = vvrirererinene
a) 98 b) 99 ¢) 100 d) 33
21 ofe f&d Fav &1 30 % 12.6 € @ 9@ FaR BAM
T) 40 ) 42 ) 45 €)) 35
If 30% of a certain number is 12.6 then find the number. :
a) 40 b) 42 c) 45 d) 35
22 TS afad (6] 9% B 27.50 HIT § Q@O § AR 2860 ©IT § 99 oal & o IADT 9 yrowrd &n |
T) 4 yfywa ) 8 gfdwg W) 5 gfoerT ) 6 gfrerr
A man buys an article for Rs. 27.50 and sale it for Rs. 28.60. Find its gain percent.
a) 4% b) 8% c) 5% d) 6%
23 25X ? = 25% of 900.
a) 25 b) 5 c)9 d) 10
24 YeTd HHARI UF a8 # fbae AEd 999 Geol B §HAR Bl 2
7) 15 39 ) 30 o= ) 25 fas d) 60 fa7
Railway Servant is entitled for credit of days of LAP in a year.
a) 15 b) 30 ¢) 25 d) 60
25 fgfar @ ad A gedl @ iad 999 91 & TS 0 Dorel AR B (elC..nn ol ot R | AN B
Bged! @ & o faar S|
7)o )5 € 2% M 4
In the year of appointment, LAP shall be credited to the leave account of an employee at the rate
of _____days for each completed calendar month of service.
a)o b) 5 2% d 4




anwlwrﬁt/mﬁhﬁmﬁm%qviaﬁ%mﬁ ..................... et @ amd o ae W gEd! @ BBER

Q) 20 A= #) 30 = ) 8o fast 3 10 A
A permanent/temporary Rallway Servant shall be entitled to leave on half average pay of __ days in
respect of each completed year of service.

a) 20 days b) 30 days c) 80 days d) 10 days

27

ARA ¥ TR YAON 0F DA TN oo

Q) 1850 ) 19053 oY) 1883 @) 1950

First passenger train in Indian Railway started in the year of ...
a)1850 b) 1953 c) 1853 d) 1950

@ 7 VA B G 2

v gag #) TR ) Reeeh &) Fofigy
The head quarter of ECR S .......oocovvinneinisiiunens
a) Mumbai b) Nagpur ¢) Delhi d) Hajipur

T ¥ WA Nea o T @) w8

Q)7 ) 17 @) 9 s
At present in Indian Railway there are ................ No of zones.

a)7 b) 17 c)9 d)5

A A o9 oA AT AR BN VDT BT IR HABIY WP (6T o Tl & |
%) 100 7 ) 135 27 #) 180 a7 ¥) 160 7
Female Government servant with less than 02 children may be granted maternity leave for
a) 100 b) 135 c) 180 d) 160

31

Rga @@ & ARwT 9 ... oA 8 AR T @ AR FUHT AT SOl I |
Q) 15 fe /6 wd+ 1R/ @) 2 Rw/s WA &) 1 Re/12 7=
Maximum of the paternity leave is days and shall be availed within months.
a) 15 days/6 months b) 1day/3 months  c) 2 days/ 5 months _d) 11 days/ 12 months

32

PHC R Y o, TSIl (AT DY GEAT BT ATATTHAT BH B |
Q) 1 ) 2 H) 3 3 4
In Concrete sleeper ... No. of pandrol clips are required.
a)l b) 2 c)3 d)4

TSIt I L & @ AR dad (a1 o At |

T) 1 ) 2 ) 3 ]q) 4
IMR Rails should replace within ........c...... days.
a)1 b) 2 c)3 d) 4

T g vd | [ fefdeH |

T3 #) 2 @ s d) 4
In East Central Railway there are ..........cc...... No of Division.

a) 3 b) 2 c)5 d) 4

T B AT ARET B AT H v B P UL W Ul AfHT B S ARy

v) vegfafas ) PR ) w ¥) oW D
Punching marking should be done on a strip Of .................. in case of AT welding of rails.

a) Aluminum b) Copper c) Steel d) Stainless steel

Tt B g, oS B ARA PH G BH o TATRY @ Y BRI @ a1l AR AT (AT AT ANRY
T) 10 s ) 6 ;s\

During in Situ welding of rails at least ..........cee.coeens nos of sleeper rail fastening should be

Loosened on either side.

a) 10 b) 8 c) 6 d)S

AT ARET B AHA H ..o B TR GO B A B 8 |

) sfafaw siave ) agata e &) 2fthr | yeat ®) Irgfr Wes ol
In case of AT welding, lack of fusion is caused due t0 ......ccuirverenne

a) Excess b) Insufficient heating _ c) Before tapping d) Improper mould fixing

Prfafaa Hr U B UCH B |
v) vegferiian oe W #) vegfieim oiv amawe dlfewgs W) AR Sl o sifewgs
@) feha diR gegfaias slfearge
Which of the following are the components of the Thermit mixture?
a) Aluminium and steel b) Aluminium and iron oxide ¢) Magnesium and iron oxide
d) Silicon and Aluminium oxide

60 THA XA BN FUIE v L]
Q) 172 #) 156 fird wh) 143 fielt &) 13 felt

The height of 60 Kg. rail IS ...




a)172mm b) 156mm ¢) 143mm d) 136mm

/| TR STes Y DT TP st ox auerar e omh )
/ ) 0.1 #) 10 ) 15 ) 20
Emergency joggled fish plate are provided at every ... Kms.
a)0.1 b) 1.0 ) 1.5 d) 2.0
41 A ) by @ B darg (b s 8|
Y) 610 fef &) 1000 fird ) 100 firft &) 10 I
Length of 1 meter long fish plate is ...
a) 610mm b) 1000mm ¢) 100mm d) 10cm

42 JUEUBS. S QT AW B
q)mmmf&émﬂ)qﬁmmmmmmmﬂ)mﬁwmm
Full form of USFD
a) Ultra sound field detection b) Unique flaw detection c) Ultra flaw detection d) Ultrasonic flaw
detection
43 T Y AR BTG A R0 2|
Y) o A5 XA &) & e X W) dtn des Ye &) adA e X
Full form of LWR IS .covviiiininninnns
a) Large weld rail b) low weld rail c) long weld rail d) line weld rail
a T 2 IeT BT YUETHE B T ..o R @ MeR qQT fobaT SIQ |
T) 30 ) 60 ) 902 € 120
In New AT weld shall be tested with USFD within .......... days.
a) 30 b) 60 c) 902 d) 120
45 TATDISS / 5 WIHSS YRAT § B W1 U X DY A1 B (g JGANT a1 St 8 |
7) ¥ 2 #) @few 2 @) deat 2 &) vegfifiga 2u
In electrified /track circuited area ............ tape is used for measurement of rail
a) Steel tape b) Cotton tape ¢) Metal tape d) Aluminum tape
46 AT (AR W A, & WIR @ 4 B GO o EEET
T) 100 &) 80 ) 60 3) 50
Normally in LWR section distance between two sleepers is ......c........... cm.
a)100 b) 80 c) 60 d) 50
47 JTeY AT ERT ARNBTH ST TG oo P 7
T) 15 ) 17 ) 23 d) 25
Maximum tapping time by auto tapping is ......ccceeeenneunens seconds.
a) 15 b) 17 c)23 d) 25
48 Hhfea arg AR Ugiel GRT NENST & AR Sd1d 511 |
Q) 2 ¥ 25fFm /Y @) 02 A osfeur/AW W) 2 @ 3w/ D) 4 F 45 fewr/ W
Pressure during preheating by compressed Air & Petrol shall be .........cc.c......
a) 2 to 2.5 Kg/cm® b) 0.2 to 0.3 Kg/cm? ¢) 2 to 3 Kg/cm? d) 4 to 4.5 Kg/cm’
49 vdldce & QU AW &1 & |
) ae uffe afesT &) Tgfer afife afeeT ) T SR AfesT &) 3 | B TR
AT welding stands form
a) Auto thermite welding b) Alumino thermite welding ¢) Alumino temperature welding
d) None of these
50 NeEa TEreT AU % S9N e § |
Q) dE dew P Eed @ o ) aERT @) weRm &) sl
Profile grinding machine is used for .......
a) Removing excess weld metal b) Grinding __ ¢) Rail cutting _d) Chamfering
51 YA SER @1 39AnT Bl B |
y) afeen # #) Sugfir § ) Ya fyfeir # &) Y BT §
Rail tensor is used for
a) Weldin b) Destressing c)Rail drillin d) Rail cutti
52 ﬁm#ﬁvmﬁmmwiﬁmﬁl{ﬁ(ﬁmwmm |
T) 600,900 #) 900,1800 ¥ 600,1200 ) 900,1800
For protection of track detonator is placed at distance (metre) in double line section
a) 600,900 b) 900,1800 ¢) 600, 1200 d) 900, 1500
53 IMR & W fafea fan oo ...,
7) 1 ¥© #fE ) 2 Y& wiw ) 3 ¥§ ww ) 4 s wha
IMR shall be mark wWith ,........cooveeinne
a) 1 Red cross b) 2 Red cross c) 3 Red cross d) 4 Red cross
54 ON.QB.QA. BT qN AT @] B |

7) drde e araa ) Wa-2avrege fvee wds W) dwge fiee A @) W s




ATAH
Full form of GFN liner
a) Granite filled nylon  b) Geo-textile filled nylon  c)Graphite fixed nylon _d) Glass filled nylon

"

55 afee &1 w1 SuMT R |
) s 3R s ) daa s oY) daer sargfir &) 70 @ B T
What is the use of welding?
a) Cutting & joining b) Only cuttin% c) Only joining d) None of these
56 R GLIL 55 AR — o & st aman 84
Q) g &) gohfrafdr ) wifite &) fafen
In railway Welder post comes under ... department.
a) Security b) Engineering c) Personnel d) Medical
57 TH Ggoles A3 | UgE AER 8
q) FRRNE AR #) ofrwes amR o) arg argRd) T A B T
Liner used in track circulated area are .........cmuinin
a) Composite liner b) GFN liner c) Metal liner d) None of these
58 ffee dce QRWET B IYANT HXD AT W § |
Q) 10 R W e @) so A e R W) 1 Arew wher ) 10 A AR 1T
W ey A=t
Finished weld tolerances are measured by using
a) 10 cm straight edge b) 50 cm straight edge ¢) 1 m straight edge d) Both 10 cm and 1m straight edge
59 Y AT TFAD A ADS! D Aol BT SYANT (AT Wl & |
T) ¥ W@ N e N P AW A) FRES B THE &) | P A
In AT welding technique, wooden wedges are used for :
a) Rail alignment b) measuring weld gap ¢) Cleaning of crucible d) None
60 ST B INH W R DY TOE D O o BT SUANT {641 e & |
Q) € arR ) fafe aa /) ¢ 3R & = ) arR 9o
is used for rail ends cleaning during welding
a) Steel wire brush b) kerosene oil c)Botha &b d) Wire claw
61 Y TR B @ [o1Q WAt TOTawT @ SIS Ul B o Hdeh ¢ |
Q) W arR &) fafe = € ¢ ek &t 3 ) IR g
For rail preparation, Best quality cutting can be obtained by .
a) Hand cutting machine b) Hacksaw blade c) Abrasive disc cutter d) Any RDSO approved blade
62 AT ST GTRT GAGH ST B .o JFS B
T) 15 ) 17 ) 23 ) 25
Minimum tapping time by auto tapping is ... seconds.
a) 15 b) 17 c)23 d) 25
83 iﬂm@ﬁmmmﬁmaﬁﬁ%@ma@—ﬁ@m%ﬁmmﬂmaﬁmmm%l
q)uﬁ?r,m%mﬁm%,ﬁ?ﬁmgmgm% ) v BT gRr AR Wik IS
Yo @ wifer &) T Xa @ | A7 R ) | ufife a1 AR I F STATHA A e
Q. Sand inclusion in the rail foot and sand burn marks transversely across the rail head
a) Moulds fitted centre to the gap but inclined to the vertical.
b) Cutting of wear resistant grade rails by flame cutting.
c) Dropping of luting sand into the mould
d) Failure to use the correct thermit portion and welds.
64 e} B WA SaABI B § |
7) 4 | &) 5 | ) 6 AT ) 3 |
Normal life of detonator is
a) 4 years b) 5 years c) 6 years d) 3 years




ufnT w1 &Y. dos b ien # |

Q)E‘\;?ﬁﬁmw ) s w1 R vww W) W@ W Prwen g A ) IR F @
Punching mark for A.T weld is done on:-

a) Gauge face of weld b) Non-gauge face of weld ) Flange of rail  d) None of the above

66 ACE TG ST D .o fiee are ugeh g9 @ Ul (a1 o wwar § |
Q) 30 ) 35 ) 40 #) 45
First train can be passed after............ minutes after pouring of weld metal.
a) 30 b) 35 c) 40 d) 45
67 TP ¥ RR ® e R R0 B HA B SR 8|
v) wen, sieRTel @ A A fbe §, Phwy chaa g g & ) wom af g Ao e s
WA e B) g X o | A e Q) W offe 7 R 3w B SwEarTEe # Rwerar
Q. Lack of fusion on foot of one rail end is caused due to
a) Moulds fitted centre to the gap but inclined to the vertical.
b) Cutting of wear resistant grade rails by flame cutting.
¢) Dropping of luting sand into the mould
d) Failure to use the correct thermit portion and welds,
68 Awget ace (DFWR) & et fafa fsm s e
NERSE: ! ) 2 3 B ) 3 Y W @) 4 W B
Defective weld (DFWR) shall be mark with .......cccecevvenes
a) 1 Red cross b) 2 Red cross c) 3 Red cross d) 4 Red cross
69 T AT SoY B A Al a1 S ..o
Q) 1% #hE ) 2 ¥ wra #) 3 ¥ B &) T A g T
An OBS W shall be mark with .........cccovevennnens
a) 1 Red cross b) 2 Red cross ¢) 3 Red cross d) None of these
70 Frefofaa § © @1 dleeT SUBT 3T fewdl T8 8
Q) e/ ¥R ) AT o W) efe dfw 2) emifreR
Which of the below is not a part of welding equipment
a) Torch burner b) Weld trimmer ¢) Thermal chalk d) Rail thermometer
71 AT qraar WEIoT U @) qudr a1 8 |
T) 100 WTEEH A1 6 HE, O oty B ) 50 SarEEw AT 6 HEW, S W UBA B
) 100 waEeH ar 1 7§, S A UsA B ¥) 50 Sagew a1 1 o, o ft us B
What is the validity of provisional competency certificate
a) 100 joints or 6 months which ever is earlier b) 50 joints or 6 months which ever is earlier
¢) 100 joints or 1 year which ever is earlier d) 50 joints or 1 year which ever is earlier
72 S # 60 fheil 90TANTH X BT ARG HAT AT .corercrrcrrnere 2l
Q) 880 &) 800 ) 525 3 550
Stipulated service life of 60Kg. 90UTS rails in GMT is .........oucue.
a) 880 b) 800 c) 525 d) 550
73 iR 3 wog | 9N FR P ad § 1 WX |e T W HEanR gEaderar gl ?
7)o ¥ +1fEh d) o & +0.5 RN /) 0.5 ) + 1.0 .
Finished verticals tolerances on 1 meter straight edge at end of straight edge on surface of head shall be
a) 0to +1mm b) 0 to +0.5mm c)£ 0.5mm d) £ 1.0mm
74 T AES @ B8 § 1 A} e U0 W U HETA . coconernn B
Q) 0.3 fipft - @) o2 A € 0.5 el ) £ 0.5 e
Finished lateral tolerances on 1 meter straight edge at the center of gauge side shall be...............
a) 0.3 mm b) 0.2 mm c) 0.5mm d) £ 0.5mm
75 U3 JSYAAR B W fafed f&ar ST .o
7) 1 ¥ BfE ) 2 Y& B ) 3 Ys B d) i} B 7
An IMR shall be mark with .......coenniveee

a) 1 Red cross b) 2 Red cross - ¢) 3 Red cross d) None of these




,./ NERSE- o5 €) 2 Y3 wfw ) 3 Y@ wa #) ot A B A
/ A DFWO shall be mark with ...
a) 1 Red cross b) 2 Red cross c) 3 Red cross d) None of these
e A D AT BT UBY AN IUD ITE-UTH B (AR, W, AW AR AR B ... el ared) e @ W faar
e |ifidy A @ A &1 Suaht s ik AT d wwa wi daf, B el S B gem B g aw g
/A WY HATN
Q) 50 #) 60 ) 45 &) 75
The rail end face and adjacent sides at foot, web and head up to ........... mm shall be thoroughly
cleaned using kerosene oil and brushing with wire brush to removed all dirt, grease and rust
Before welding.
a) 50 b) 60 c) 45 d) 75
78 I R @ ad § 10 W |We (0 W daqq GETHA......onn B |
7)o No2 Al &) oA os @ o | 04 ekt &) o & o5 firlt
Finished vertical tolerances on 10 cm straight edge at end of straight edge shall be................
a)0to 0.2 mm b) 0to 0.3 mm ¢)0to 0.4 mm d) 0to 0.5 mm
79 R R @ P A 10 W We o W grefa gEeen.............. Brft|
Q) £ 03 faneh ) £ 04 5 /) £ os el ) £ 10 Ak
Finished lateral tolerances on 10 cm straight edge at centre of straight edge shall be................
a)+ 0.3mm . b) £ 0.4 mm c) 0.5 mm d)x 1.0mm
80 TR g &5 B dee dE D WIS L el @@ =rar e 21
Q) 20 ) 30 ) 40 75
Heat affected zone is measured up to ................. mm from weld centre.
a) 20 b) 30 c) 40 d) 75
81 TW2 U395 H & oY doek @ forg Agar W10 U5 @) aedl §.....
Q) 1 9 €) 2 \re ) 3 | ) 4 A
The validity of Competency certificate for welder for TW2 course is ........cuee.
a) 1year b) 2 years c) 3 years d) 4 years
82 TROT Y07 8 H .o 94 ¥ UP dR dos Dok U P ST ARy |
Q) 4 4 3 ’ ) 2 M1
Weld collar painting to be done once in................. years in corrosion prone area.
a)4 b) 3 c)2 d)1
83 AT IS & A H, T TR oo % HROT BT B |
v) sfRew st &) st @ &) 2R @ e &) s Hee RefreT
In case of AT welding, slag inclusion is caused due to .........ceeccererrrnees
a) Excess gap b) Insufficient heating c) Before tapping d) Improper mould fixing
84 AT RS B AR #, O BT BN oo B BN BN B
v) faRew sia=re ) svafa R W) M @ gsat ) e A i
In case of AT welding, shortage of metal is caused due to ..........cccceureurnnes
a) Excess gap b) Insufficient heating c) Before tapping d) Improper mould fixing
85 ITIN R A DI T AeST B AR H, XA DI G0 GAIE D H BH v P TN R GARIT BT G118
yefad doe B ! AR ADG! B @ (D |
T) 10 ) 20 ) e <) 8
In case of AT welding of rails on cess, full rail length should be supported on at least.............
Number of wooden block on either side of proposed weld.
a) 10 b) 20 c)6 d)8




T AfeeT H O B A A A A 1 qHUTA B |

V) ufife & ) Reen gan o1 wfY) v it &) wh T
In case of AT welding delayed tapping will cause 0ss of ............c.....
a) Thermite weld b) Molten metal c) Super heat d) Slag inclusion
87 % X D WM A0 B D [ Aravad Qe 60 fBUT Yo B g Harg fedr 8
) 162 A #) 163 firft ) 164 A &) 166 firf
The minimum height of old 60 Kg rail required to be welded with new rail is ...
a) 162 mm b) 163 mm c) 164 mm d) 166 mm
88 TR XA D O™ A8 B D (Y JAEAD WA 52 fBUT I B YT HUMR......o 2
Q) 148 firf #) 149 fivft @ 150 Hrew &) 152 e
The minimum height of old 52 Kg rail required to be welded with new rail is ..........c...c..
a) 148 mm b) 149 mm ¢) 150 mm d) 152 mm
89 vord Pty At WTe B @ fY et g1 PR arequr ace @1 W qed TW2  FHBH 3 FTEN
T TF e 2
Q) 1% ) 2% ) 3% 8 5%
The limiting value of defective weld executed by the welder to obtain permanent regular competency
certificate as per TW2 programme is.......c.ccuu...
a) 1% b) 2% c) 3% d) 5%
20 ¥a N AT B AT IugR W YA W wrg e 2?2
) X A Q@ ofard ) o ward @ g 5 Aex W) 3 AR 8) 6 Mex
Length of rail is to be levelled for welding of rail on cess is.......cc.cuus...
a) Full length of rail b) Half length or minimum 5 m c) 3 meter d) 6 meter
Section - A
91 TW1 II8T%H & oy doey @ forg Avgar wHIor U= Y Qe &
Q) 12 WA ) 6 7R ) 3 7= 8 24 WA
The validity of Competency certificate for welder for TW1 course is .................
a) 12 Months b) 6 Months ¢) 3 Months d) 24 Months
92 arge 9 afesT @ forg amawas Ay 2.
T) 75 £ 1 ) 50 £ 1 A @) 25 + 1 B 3 70 £ 1 el
Gap required for wide gap welding is.........ccce...
a)75% 1mm b) 50 £ 1mm c) 25+ 1mm d) 70+ 1mm
93 frafia ey Afcen & forg emawgs v 2.
Q)75 £ 1 el ) 50 £ 1 frlt ) 25 £ 1 el @) 70 £ 1 Al
Gap required for regular ATW welding is........c........
a) 75+ 1mm b) 50+ 1Imm c)25+ 1mm d)70+ 1mm
94 25 a7 AfeeT & forg Acs wellem 99 ©.......
T) 4 ¥ 45 e ) 4 ¥ 6 e W) 2 9 25 e M5 A7 Ae

Mould waiting time for 25 mm gap welding is.................

a) 4 to 4.5 minutes b) 4 to 6 minutes ¢) 2 to 2.5 minutes d) 5 to 7 minutes




// 7) 2 R I A ) 2 @ o T Mi1aweak1as aa=
Newly welded joints are to be joggled fish plated with................
a) 2 far end bolt b) 2 far end clamps c) 1 bolt & 1 clam d) 4 Bolts
% B W T AT (BT A A AGS AT (Y AT M A .o Alex B &4 T8 BN |
Q)4 #) 55 @1 IR 3 es A
No AT welds shall be closer than .............. from any other weld or fish plate joints.
a)dm b) 5.5m c)6m d)6.5m
97 AICHCH PIRGT DY JOHA B AT e golagI8 @l SuAn fahar e 8|
Q) T4 1 LR LUREE! 8 uaa4
For reconditioning of CMS crossing ... electrode to be used.
a)H1 b)H 2 ¢)H3 dH4
98 T RA B AT B AT oo msﬁaﬁ‘ammﬁmmﬁl .
Q) ? ) v ) CURE
For reconditioning of tongue rail ............e. series electrodes are used.
a)K b) L ﬁ‘::I)IM : d)H
) I O .. } afaRaa urg & gem & forg wanT ST 2 |
) ¥ A Ry )qﬁ@a'ﬁwaﬁvﬁﬁﬁ ) des B &) s | B T
Weld trimmer used to remove extra metal from ..
a) The periphery of weld b) Top & side of weld c) Bottom of weld ~d) None of these
100 =R - MFT IS T _..R)
T) 1800 ) 1900 ) 2400 €)) 2800
Grade pay of welder ~ Il is ..............
a) 1800 b) 1900 c) 2400 d) 2800
Section - B
101 ﬁﬁw%ﬁm«a}mﬁéﬂmaﬁwm%#ﬁaﬁ%ﬁmmﬁ%l
' T) SET-343 ) arEde—a44 ) sgme—351  9) T | BIF A8
102 m%wﬁuﬁiwwaﬁmﬁmm ..................... % [
T) I ) =R ) s &) IgArTY
103 HEAY oAl |t A fhae wew B 2
T) 30 ) 40 @) 10 3 20
104 wfau @1 e g A A B Seod 2 |
Q) Hradl ) amsdr ) TR 3) At
105 oA AffEE F |
T) 1961 #) 1962 ) 1963 3) 1968
106 ST R @1 R e I W) A8 2
T) 9 FEIR i) afrerg, ) ?) SR Y
107 ISTATNT YR — YR B gie | Q¥ BT [ba &1 3§ qrel T o |
Q) 2 9 3 ) 4 ) 5
108 GTE ST B GANT TR @ (o¢ g [hd &3 P A A B |
Q) & &4 ) @ a3 /) T AT ) T | B T8
109 BTG IS B JANT YHR B forg a9iiepa fod & & e 2 |
V) @ &7 ) @ &= <) 7w am 9) T QA B @
110 gl a9 fe=) feaq &4 AT ST © |
Q) 12 fyamr ) 14 Rya=r ) 12 S ) 10 TR
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East Central Railway, Danapur Division
TR Rurr & 26% vE g wer @ owa aeifRm-i Q) @ g7 o gErEfy 3y e afen
Written examination of selection for promotion to the Post of Tech - Ill (Welder) against 25% LDCE quota in
Engg. Department.

Date of Examination: 23.04.2023 Time: 2 &2 /2 Hour Total Marks: 100

wr PR g R Rrad @ g Prefafea Prden vd sedt @ e gde 03

General instruction: - Please read all the instruction given and against the questions carefully before answering.

g BT IaR OMR yRast & & &

Answer must be given in OMR sheet only.

we-g3 fewmdia 8| &R of wet F Rl ave @ ww urar omen 8, o Sw@n aren w9 & AT B |
Question paper is Bilingual. In case of any doubt question in English version will be valid.

T 0¥ qRIET A HH 110 TR-ADUD AW[TS WA 8 | GTHNT § Gaferd qee HAD 101 A 110 F 8

3 | This question booklet consist total 110 Multiple choice objective type question. The questions
related to Raj Bhasha are from question number 101 to 110.

T 98 gAREd a & uw o3 A go 110 U W HU A efbd 8|

Kindly confirm the question paper in printed completely with all 110 questions.

TdEmell 100 TeA BT &1 IAR 3| IR B IFNTAR 100 T¥AT W AP BT SR o & A 59 R F FoH 100
5 | we &1 € e fHar s

Candidates have to give answer of 100 questions.

e Uy TEI1 91 100 1101 110 BT IR & 1 [adHed 97 9B B

Candidates may opt giving the answer of the question number 91 to 100 or 101 to 110.

Y HHiD 01 90 P Hard &

From question no 01 to 90 are compuilsory

UY TB191 ¥ 100 AP [adbed T §

From question no 91 to 100 is option “A”

UH HHID 101 ¥ 110 A [dDed "a" (TSTH]) &

From question no 101 to 110 is option “B” (Rajbhasha)

afe 3raeff 91 A 110 A Ml [Aded (Y & oY) BT VTR Sl 8, ol Had UH G191 | 100 AP B Hedi [T ST

10 | If candidate attempts both the options (A & B) from 91 to 110, only question number 91 to 100 will
be evaluated.

IR 20 999 =4 ¢ & OMR gRaar & Ry v Resl # daa st /N I @ 9 @ge 9 F W)
11 | A SR @1 A 99 /9 BT FRATS afofd BT

Candidate has to use only Black/Blue ball point pen while answering the OMR sheet.

el HUAl T8 A PN (& dg-AB § QY T IR B BA W IBR A HIe-BIe, T, e,
mwﬁ%ﬁmm@mmﬁmﬁﬁaﬁwﬁ%mﬁﬁmmwﬁmmt§@
IRt BT JearHa T8l R S|

12 | candidate may please note the any type of corrections including cutting, overwritten & erasing and
modifying the answer in any way etc., is/are not permitted. In case a correction is made that
answer shall not be evaluated at all.

TOed] a8 GeTa B¢ (6 SR 93 ,/3ATAAR. Ae W N 4%, IS, R AR 4 [QAaRer 2y ¢ e |
W w® € ford | 39e e e I ®M W) ge W e fa wr S | W IaR w3l @1 g
761 farar wrgm AR 9 3drg wEr oo |

13 | Candidates must endure Roll No., Name, Designation, station and other particulars as specified
may be written by the candidates only at the appropriate places provided for the purpose on the
answer paper/OMR sheet and not anywhere else which will be treated as unfair means and such of

those answer papers will not be evaluated and treated as disqualified.

T0E & ANH (el A avE B BaTaR WIER A8 (AT G0, THT PR UR IIUD (We® (Wi eriare)
gfftaa @ gt aden gfa @ afey et ave @ goragifie Sumwr @ WA @ agEly T Bt Alers
gR1 9RER BYea @) arqufa oo 99 fFrflere o A 3§ v oo

14 | No malpractice will be acceptable in any form. If any candidate involved, the start department
action will be initiated. No electronic gadgets are permitted inside the examination hall and the
same may placed under self-custody of the invigilator till completion of examination and

permission is granted by invigilator to leave the premises.
15 mmefg‘ﬁmzﬁmma@@mwmmwmﬁmw?




HRa o ugel) RO 29 da gell

Q) 1850 #) 1953 ) 1853 &) 1950
First passenger train in Indian Railway started in the year of ...........uvvcnciieniiricnns
b) 1850 b) 1953 c) 1853 d) 1950
2 e afa e awg #2750 ® § wdaor § AR 2860 YA A 49 a7 & A IS A Gl B
Q) 4 wlywa #) 8 ufrera ) s wferer @) 6 ufdrer
A man buys an article for Rs. 27.50 and sale it for Rs. 28.60. Find its gain percent.
a) 4% b) 8% c) 5% d) 6%
3 25 X ? = 25% of 900.
a) 25 b) 5 )9 d) 10
4 PIHT a8 HY Geard 2022 fFw 9 7 offan|
T) | ) geah ) arifea d) v
Who won FIFA World Cup football 2022?
a) Spain b) Italy ¢) Argentina d) France
5 I ATa. 2023 A fberh I R @t o
Q) 8 ) 12 ) 10 M N1
How many teams participated in IPL 2023?
a)8 b) 12 c) 10 d) 11
€ ARA ¥ FS AA Yo1qd A DY ATy (b e 8 |
Q) 5 BT 3 g9 Msweesag Mavic11ga &) s De4a3d
What is the width of broad gauge railway line in India?
a) 5 Feet 3 Inch b) 5 Feet 6 Inch c)4Feet1linch  d) 5 Feet 4 inch
7 fER 3 AT v P 99 B fFIR W e 2|
T) HETd ) garah ) wm ) MeEd
Capital of Bihar Patna situated on the bank of which River.
a) Mahanadi b) Indrawati c) Ganga d) Godavri
8 IR TR A1EY §RT YAl b ©E W) geell g AR (oAU o4 Bl [hw [ 31 840 HeY e |
Q) 10 FAIRR 2022 ) 27 57 2023 W) 11 S 2023 2)) 10 JATIR 2022
Prime Minister Narendra Modi flagged off first Vande Bharat express on Patna - Ranchi route on which date.
a) 10 November 2022 b) 27 June 2023 ¢) 11 January 2023 d) 10 October 2022
9 TeT WA 391G 993 AR @ (64 o9 § R & |
Q) sifewm ) ufRer T ) SRIER J) IREs
TATA steel plant located in which state of India.
a) Odisha b) West Bengal c) Jamshedpur d) Jharkhand
10 S N BT T oo g
T) 1676 & 1000 ) 1600 B) 1750
The broad gauge distance is .......... mm.
a) 1676 b) 1000 c) 1600 d) 1750
11 B2l U5 IR 2|
Q) 9 § ) W after & WM d D) T AP T
Leave is a Right.
a) True b) Constitutional Right c) False d) None of these
12 3. AARIFASIR BT QT A 9T & |
) #Rig el sidsar ) Al W9 sideaR W) aETaRd IR SASER @) FMEr I JdSHN
What is the full name of B. R. Ambedkar?
a) Bhimrao Ramji Ambedkar b) Bhimji Rao Ambedkar  c)Babasaheb Ramjirao Ambedkar d)
Baba Ram Ambedkar
13 FABT A B ATAD] B (9] RATH FADT T oo e v wfe |
7) 16 fa #) 30 fa= ) 25 faw ¥) 40 R=
For encasement of leave salary, minimum leave balance should be ............ days.
a) 15 Days b) 30 Days c) 25 Da d) 40 Days
14 gyarafre Frdaigal w & ud) ARy o W) e @ AE WA BT TAT e o )

) TH.9%—-11 #) vays-7 ¥) TH.UH-5 ¥) T ¥ B




Which number of standard form is used for issuance of major penalty charge sheet on disciplinary
proceedings?
a) SF-11 b) SF-7 ¢) SF-5 d) None of these

fogea sy fhas Rt & forg fan qmen &)

Q) 10 = &) 20 A7 @) 15 A= &) 30 faa
Paternity leave is granted for

a) 10 Days b) 20 Days c) 15 Days d) 30 Days

g A o fvde e ou A FwErEh s wr v B |

Q) WRd #) it fera W) e &) wrsy FBrH
Which country host 2023 ICC cricket world cup.

¢) India b) Australia c) Pakistan d) South Africa

e HHER) TS a¥ 7 fha A6 daq ged! BT §HaR 8l §
) 15 R+ ) 30 A= M) 25 = ¥ oo a7
Railway Servant is entitled for credit of days of LAP in a year.

a) 15 b) 30 c) 25 d) 60

& =1 @ ofwr aon &R A @ Ud § 2 oien W 3 /5 UTE Br & a Hqel e @ & |
Q) 1/2 ) 1/3 WM 3/2 : &N 2/7

Adding 2 to the numerator and denominator gives 3/5 then what is the original fraction.
a)1/2 c)3/2 d) 2/7

(10,000 = 50) x 5 =
a) 100 ¢) 2000 d) 40

(33 X3) 2 (3 43) = cccvencasssonases
a) 98 b) 99 ¢) 100 d) 33

afe & FaR &7 30 % 12.6 ¥ A TB FR B

Q) 40 ) 42 ) 45 @) 35
If 30% of a certain number is 12.6 then find the number.

a) 40 b) 42 c) 45 d) 35

IHY 3 fAva Y sra) Grdinar b a9 + s |

Q) S ) wRa ) AISY BB @) airegforan
Which country won men’s Hockey world cup 2022.

a) Germany b) India c) South Africa d) Australia

It facta o we @Y ravgdar st B |
)1 ) 3 8 4
In Concrete sleeper No. of pandrol clips are required.
a)l -~ b)2 ’ c)3 d) 4

FIc W | AR B W& B AGLIHAT Bl © |
Q) 1 4 2 W) 3 3 4
In Concrete sleeper No. of Liner are required.

a)l b) 2 c)3 d)4

e @ ¢ % 921 @ aea a0 91 B T T B AE D ... R B @ odad 3.
ged! @ # o faar S|

9o #) s /) 2% 8 a

In the year of appointment, LAP shall be credited to the leave account of an employee at the rate

of ____days for each completed calendar month of service.

a)o b) 5 c)2% d) 4




26 gwﬁl/awnﬁ%amﬁm%wﬁ%m# ..................... faqt & amy affere dew oW gt H1 BHEAR
I
Y) 20 R #) 30 R ) so fa= & 10 fa=
A permanent/temporary Railway Servant shall be entitled to leave on half average pay of days in
respect of each completed year of service.
a) 20 days b) 30 days c) 80 days d) 10 days
27 A A FH geAl AT AR WHIN DABI B UG AT WPa (A w1 Tebar § |
) 100 faq ) 135 fR= ) 180 fa1 &) 160 fa=
Female Government servant with less than 02 children may be granted maternity leave for
a) 100 b) 135 c) 180 d) 160
28 g s & afdwes Qs AR AN Al D AR GHS] ATH ISTAT AT |
Q) 15 fR< /6 wéH M1 Ra/3adt W) 2 Rea/s w8 @) 1 /12 78
Maximum of the paternity leave is days and shall be availed within months.
a) 15 days/6 months  b) 1day/3 months  c) 2 days/ 5 months d) 11 days/ 12 months
29 @ e Vo BT AT gl
v) Ha% ) TR o) feeht ) TegR
The head quarter of ECRS .....c.ecvvvererrnenneennen
a) Mumbai b) Nagpur ¢) Delhi d) Hajipur
30 TAHE A ARAg o) A EriEiEc
Q)7 ) 17 /) 9 s
At present in Indian Railway there are ................ No of zones.
a)7 b) 17 c)9 d)5
31 BHC TR A oo R TS D) W& B ADAT BN B |
Q) 1 ) 2 @) 3 N 4
In Concrete sleeper ........ccuuvvinnen. No. of Rubber pad are required.
a)l b) 2 c)3 d) 4
32 FIFGATT FBARC oo, A TR IUAET PSRN B |
v) 52 fum 3k 52 far ) eo fbum 3k 60 fbur ) 90 3R 3R 90 IR &) 52 7 3R 60 T
Combination fish plate is provided at .......... rails.
a) 52 Kg & 52 Kg. b) 60 Kg & 60 Kg. c) 90R & 90R d) 52 Kg & 60 Kg.
33 60 Tl XeT BT BT oo g1
Q) 172 R &) 156 e W) 143 Rl 3) 136 el
The height of 60 Kg. rails is ......cccceevvenee
a)172mm b) 156mm ¢) 143mm d) 136mm
34 ATTTBTAA TS [BY T TP oo R R Sueer B W 2 |
T) 0.1 &) 1.0 4@ 15 d) 20
Emergency joggled fish plate are provided at every .............ecerveeee. Kms.
a)0.1 b) 1.0 c)1.5 d) 2.0
35 Het wdl (B9 ©ie BT i@z fha- erh © |
T) 610 fA#A 4Y) 1000 ARt € 100 Ay ) 10 N
Length of 1 meter long fish plate is .......oecveeneinninns
a) 610mm b) 1000mm ¢) 100mm d) 10cm
36 T LR ) —— femt & AR e fean o =feg |
Q)1 2 ) 3 H) 4
IMR Rails should replace within ..........cc..... Days. _
a1 b) 2 03 d)4
ar IMR @ wr fafear fasar StTgom ...
Q) 1 3@ =¥ #) 2 Y& wE ) 3 YE B @) 4 ¥ B
IMR shall be mark with ...........eeunnee.
a) 1 Red cross b) 2 Red cross c) 3 Red cross d) 4 Red cross
38 videe & g AW a1 8 |
v) o) uffe afeg  4) el ofife Aftgn ) gogfiet 2ver AfteT @) = @ A @
AT welding stands form
a) Auto thermite welding b) Alumino thermite welding ¢) Alumino temperature welding
d) None of these
39 TATEIDIES / 2 e QRal § @ 61 &9 Y @) A D [ere AT [ o § |
' ¥) W 2w #) wtew 2q ) ¥ea v ®) tyffem 2
In electrified /track circuited area ............. tape is used for measurement of rail
a) Steel tape b) Cotton tape ¢) Metal tape d) Aluminum tape
40 QAT CAS@YHTY AT #, Q1 gy @ 4 B g ... o ¥




T) 100 ) 80 ) 60 3 50
Normally in LWR section distance between two sleepers is ... cm.
a)100 b) 80 c) 60 d) 50

41

g ded ved A [dad RRwE §)

Q) 3 2 #) s & 4
In East Central Railway there are ................. No of Division.

a) 3 b) 2 c)5 d) 4

42

Y QA A58 BT YUAYHS! B A ... faat & e aderor fabar arga |

Q) 30 #) 60 ) 002 & 120
In New AT weld shall be tested with USFD within .......... days.
30 b) 60 c) 902 d) 120

3% U @ (oY SR B Sadl I3 QA § (e gql (A1ev) R <@l e g1
Q) 600,900 ) 900,1800 ) 600,1200 &) 900,1500

For protection of track detonator is placed at distance (metre) in double line section
a) 600,900 b) 900,1800 c) 600, 1200 d) 900, 1500

SRCACEE G CESTE Y
7) e fhee e ) hell-2avege fhes e W) YvEe fies mudm &) o e

Full form of GFN liner
a) Granite filled nylon  b) Geo-textile filled nylon  c)Graphite fixed nylon _d) Glass filled nylon

T S AR BT G AR T B |

Q) a1t des ¥ &) o Ise N ) dft dee Yo &) EA A XA
Full form of LWR S ....coereucrienrnnnee
a) Large weld rail b) low weld rail c) long weld rail d) line weld rail

frafafad § @ oW ar ufife Rsor @ ues 81

Q) vl ok e ) vogfeiem ok emmm difevge W) FRnm &R e sifeaEs
Q) Rrchem 3R vegfiriem sifeargs

Which of the following are the components of the Thermit mixture?

a) Aluminium and steel b) Aluminium and iron oxide ¢) Magnesium and iron oxide

d) Silicon and Aluminium oxide

47

YUEIEE. BT T AW a7 2|
) 3regT OISs fhee R2awm ) gfe won fewm #)) aregt war fdewwm &) gt vor fSaw=
Full form of USFD
a) Ultra sound field detection b) Unique flaw detection c) Ultra flaw detection d) Ultrasonic flaw
detection

UBTecl TISIST HIE § SYANT Bl 2 |

U) Ics Hed of oM @ o ) wEf W) Y e B) Iwler
Profile grinding machine is used for .......

a) Removing excess weld metal b) Grinding  ¢) Rail cutting  d) Chamfering

49

Y SER b1 SYART Bl & |

) afeew ¥ &) Sl # ) Yo fefeir ¥ &) Y& »feT F
Rail tensor is used for

a) Welding b) Destressing c)Rail drilling d) Rail cutting

afesT &1 71 YA B |

v) sfeT 3R s ) daa sfeT ) o st ) T | o TN
What is the use of welding?
a) Cutting & joining b) Only cutting c) Only joining d) None of these

51

R K G A CO formT @ ardTa anan & |

7) e ) gonfaafn o) wiffs Q) Rl
In railway Welder post comes under ................. department.

a) Security b) Engineering c) Personnel d) Medical

52

% Agdcs &3 4 yga dgN €
) T AEe ) ofiywe dER ) urg TERE) T QA B T
Liner used in track circulated area are ...........cvervrerrsen
a) Composite liner b) GFN liner ¢) Metal liner d) None of these

53

ffrve dce @1 YA B W7 e 81
T) 10 @A ¥ #) s0 ¥ e R <) 1 Hrew e R #) 10 ¥ AR 1R
e farr 2=t

Finished weld tolerances are measured by using

a) 10 cm straight edge b) 50 cm straight edge c) 1 m straight edge d) Both 10 cm and 1m straight edge |
) afesn m*m%:&m%ﬁmm I
Y) ¥ s #) e My g A <) glee o word §) g Q@ pg




¥ In AT welding technique, wooden wedges are used for

P 4 a) Rail alignment b) measuri}r\gﬁweld gap ¢) Cleaning of crucible d) None
K&T AfeeT B A @ Y ) wwig B R w1 guanr far e #)
Q) Wd auw 4) AR d= ) ¢ 3l & Q= &) g don
is used for rail ends cleaning during welding
a) Steel wire brush b) kerosene oil c)Botha &b d) Wire claw
56 | Y@ QAR B B (Y At orae ) Bon ura @y o qwa) § |
Q) ¥ aR ) e d= ) ¢ alr & @t &) AR g
For rail preparation, Best quality cutting can be obtained by ‘
a) Hand cutting machine b) Hacksaw blade c) Abrasive disc cutter d) Any RDSO approved blade
57 I R g gAH ST W A8 B
) 15 &) 17 ) 23 8 25
Minimum tapping time by auto tapping is ... seconds.
a) 15 b) 17 c) 23 d) 25
58 e ST g SfHeH o N s qws B
Q) 15 ) 17 ) 23 8 25
Maximum tapping time by auto tapping is ... seconds.
a) 15 b) 17 c) 23 d) 25
59 wAd arg R Ugra g1 e @ AR q@ra B |
Q) 2 A 25/ @) 02 X oafbur/IE @) 2 @ /AN &) 4 @ 45 /A
Pressure during preheating by compressed Air & Petrol shall be .....c..ccoccveecess
a) 2t02.5Kg/em® __ b)0.2t0 0.3 Kg/cm’ ¢) 2 to 3 Kg/cm? d) 4 to 4.5 Kg/cm’




qfenT W Q2). Aee fhar o © |

v):;:wﬁﬁmv}v ) dsg & N v W) W@ & Prven gan e &) SR # @

Punching mark for A.T weld is done on:-
a) Gauge face of weld  b) Non-gauge face of weld  c¢) Flange of rail d) None of the above

61 S U BTAN B o e aw el ¢9 # ar e on wawar 1
T) 30 #) 35 @) 40 #) 45
First train can be passed after........... minutes after pouring of weld metal.
2)30 b) 35 c) 40 d) 45
62 T ¥l RR B He W WO B HA B BRI ¢ |
Y) dfen, v @ B ¥ fve R, fywy daaq gor g @ ) verm wfE gr R Wike 93
Yo A T W) G Xa w1 6 A A @) v ufife W R dos 71 SwETE # fawem
Q. Lack of fusion on foot of one rail end is caused due to
a) Moulds fitted centre to the gap but inclined to the vertical.
b) Cutting of wear resistant grade rails by flame cutting.
c) Dropping of luting sand into the mould
d) Failure to use the correct thermit portion and welds.
63 %a@_ﬁmmmﬁm@qﬁ%@mm@—%ﬁ%ﬁmwwaﬁwmmél
Y) dfen, siavel @ B A fhe ¥, fry ofaaa g1 g0 R 6) vam B gw R Wike 18
Y& A wfer /) gfew a @ | F v &) v ufife a1 3R e F1 SwERTEA § e
Q. Sand inclusion in the rail foot and sand burn marks transversely across the rail head
a) Moulds fitted centre to the gap but inclined to the vertical.
b) Cutting of wear resistant grade rails by flame cutting.
¢) Dropping of luting sand into the mould
d) Failure to use the correct thermit portion and welds.
64 STFIER BT WG Sha=dTd eidl © |
Q) 4 WA ) 5 | ) 6 | 2Y) 3 |
Normal life of detonator is
a) 4 years b) 5 years ¢) 6 years d) 3 years
65 Treforad & § 3 dfeeT IUGRY B 2w T8l & |
Q) erd IR &) afeeT fome o) oia 9t ) erfier
Which of the below is not a part of welding equipment
a) Torch burner b) Weld trimmer c) Thermal chalk d) Rail thermometer
66 S v YA 9F @ aual o & | '
1) 100 SATEE AT 6 HEM, S A gEA & ) 50 argew a1 6 WA, S A UEA &
) 100 wETEeE I1 1 9, S W vEA F ) 50 waEed a1 1 ¥, W A TEA &
What is the validity of provisional competency certificate
a) 100 joints or 6 months which ever is earlier b) 50 joints or 6 months which ever is earlier
¢) 100 joints or 1 year which ever is earlier d) 50 joints or 1 year which ever is earlier
67 S ﬁsoﬁ;a’tgogawiamﬁafﬁaﬁmahaﬁ ................................ 21
T) 880 4Y) 800 ) 525 d) 550
Stipulated service life of 60Kg. 90UTS rails in (€17, 1 S T —
a) 880 b) 800 c) 525 d) 550
68 <raget des (DFWR) @ wrer faifear fasar S e
NERSEL] ) 2 ¥ B9 ) 3 = B Q) 4 W I
Defective weld (DFWR) shall be mark with .......ccceuveeeea..
a) 1 Red cross b) 2 Red cross ¢) 3 Red cross d) 4 Red cross
69 e L E AR R L L ——
) 1 ¥ #rE ) 2 Ye B &) 3 ¥e B ) T A B T
An OBS W shall be mark with .........ccceeonerea
a) 1 Red cross b) 2 Red cross c) 3 Red cross d) None of these
70 e A o i J—
T) 1 Y& B #) 2 ¥ # M) 3 s B &) W P
An IMR shall be mark With .........c.oveveene
- a) 1 Red cross b) 2 Red cross c) 3 Red cross d) None of these




Y) 1 Y8 »fa ) 2 Y8 B ) 3 Y@ wha & i A B A
A DFWO shall be mark with ...
L’_ a) 1 Red cross b) 2 Red cross c) 3 Red cross d) None of these
72 AT AT & A W, T IR & BRYT B B |
) ey v ) aate ey oY) 2fthr @ gea B afora Aree T
In case of AT welding, slag inclusion is caused due to .......covvmeiienins
| a) Excessgap  b) Insufficient heating c) Before tapping d) Improper mould fixing
73 NS WEE B B A 1 AN Qe A W UE[a GEAMAL...cn Bt
Q) 0.3 fanft ) 0.2 firk ) 0.5 frf &) 0.5 el
Finished lateral tolerances on 1 meter straight edge at the center of gauge side shall be................
3) 0.3 mm b) 0.2 mm c) 0.5mm d) £ 0.5mm
74 AW fFR B 3 & 10 AN e U W Aqad TETINAT....ocre B |
Yo K02 &) oos Al M o W 04 firf & o A os el
Finished vertical tolerances on 10 cm straight edge at end of straight edge shall be................
a)0to 0.2 mm b) 0to 0.3 mm c)0to 0.4 mm d) 0to 0.5 mm
75 W BTN B Bg § 10 VN We T TR UG TETDA.corrrrrv &Y |
7) £ 03 ) £ 04 frd @ £ o5 € £ 1.0 Al
Finished lateral tolerances on 10 cm straight edge at centre of straight edge shall be...............
a)+ 0.3 mm b) £ 0.4 mm c) £0.5mm d) £ 1.0 mm
76 Y B AT AT B 7P H o N TP gL W Ui AfdT B S ARy |
1) vt ) W ) W &) R e
Punching marking should be done on a strip of .................. in case of AT welding of rails.
a) Aluminum b) Copper c) Steel d) Stainless steel
7 A B A, ARST B AR B Q BPH oo TRT BT Yol BREFE @ arl AR SIell (BT o1 alfey
T) 10 ) 8 ) 6 B 5
During in Situ welding of rails at least .........ccce..c... nos of sleeper rail fastening should be
Loosened on either side.
a) 10 b) 8 c)6 d)5
78 AT AT & AHA F oo P HR WS DI B! B 2 |
Q) JfoRaw siavret ) srqafa e ) 2T | s &) Irgfaa Ace T
In case of AT welding, lack of fusion is caused due to ......ccccevureeenenes
a) Excess gap b) Insufficient heating c) Before tapping d) Improper mould fixing
79 RR & was ) 99 PR @ 3 § 1 9er e T W FEHaER Waiad .. ?
Tod+1fhd)od +05N M £ 0.5 7 3 + 1.0 Al
Finished verticals tolerances on 1 meter straight edge at end of straight edge on surface of head shall be
a) 0to +1mm b) 0 to +0.5mm c)+ 0.5mm d)+ 1.0mm
80 AT AfEET B Al |, GG BT B e P PR BRA 2|
7) afaRew sidawre ) soaie T W) T @ g ) g Aies el
In case of AT welding, shortage of metal is caused due to ........ccouvererucienss
a) Excess gap b) Insufficient heating c) Before tapping d) Improper mould fixing
81 IUFR T I B TE AeeT @ AHA F, 3o B A AdE BH | BA ... aﬂmwmﬁhs‘mm
T A8 B Il AR ABS BN @D |
7) 10 ) 20 ) 6 ) 8
In case of AT welding of rails on cess, full rail length should be supported on at least.............
Number of wooden block on either side of proposed weld.
a) 10 b) 20 c) 6 d) 8
82 HEATOT G & H oo G § U@ aR doe DR GleT B G ARy |
Q) 4 @) 3 ) 2 & 1
Weld collar painting to be done once in .....coouuveee years in corrosion prone area.

a)4 b) 3 )2 d1




B A P ABY AR IUD AU B (bR, W, AR R aw ... e arah v @ e fear
o Ry A @ A w1 g s ok AT A gwR wh e, fw iR o @) gert B frg ar v
/T A
Q) 50 #) 60 ) a5 & 75
The rail end face and adjacent sides at foot, web and head up to ............ mm shall be thoroughly
cleaned using kerosene oil and brushing with wire brush to removed all dirt, grease and rust
before welding.
a) 50 b) 60 c) 45 d) 75
84 wrft Frafia A e w B g deer gt Prenfa eyt dee w1 Wit g TW2  FRien @ aER
YA TF ..o 21
Q) 1% ) 2% @) 3% &) %
The limiting value of defective weld executed by the welder to obtain permanent regular competency
certificate as per TW2 programme is.................
a) 1% b) 2% c) 3% d) 5%
85 S B AT B Y SuAR W YT B dard a2
Q) X A g &) ameft ofard @1 e 5 fler W) 3 AR &) 6 #rex
Length of rail is to be levelled for welding of rail on cess is.........c.euen.
a) Full length of rail b) Half length or minimum 5 m ¢) 3 meter d) 6 meter
86 T Afee § QA B A A T W o BT qHEE B |
T) uffie WA &) Reen gam a1g ) gox T <) W FEEYE
In case of AT welding delayed tapping will cause 10ss of .......c.ceccene.
a) Thermite weld b) Molten metal c) Super heat d) Slag inclusion
87 TZ XA D W Aoe PYA D (O AMALAD QR 60 [HUT YT BN AT HaATg fhe o |
Q) 162 e €1 163 finft ) 164 Fex @) 166 i
The minimum height of old 60 Kg rail required to be welded with new rail is ........c.ce....
a) 162 mm b) 163 mm c) 164 mm d) 166 mm
88 TE XA D A A8 I B (1Y JMALAS QRN 52 fHUT XA DY GATH HAR.oorvervrrr g
Q) 148 1) 149 el ) 150 Hrex ) 152
The minimum height of old 52 Kg rail required to be welded with new rail is .......c.ccc.c....
a) 148 mm b) 149 mm c) 150 mm d) 152 mm
89 TR gHTad &S B 908 BDE B BT A oo e @ AT e 2 |
T) 20 ) 30 ) 40 3 75
Heat affected zone is measured up to .......c.cuc.... mm from weld centre.
a) 20 b) 30 c) 40 d) 75
9 TW2 UTG%H @ (oY doeX @ forq Argal WAHTul U3 Y 99 2.
T) 1 | q1) 2 | /) 3 uA Q) 4 I
The validity of Competency certificate for welder for TW2 course is ........cvuuu..
a) 1year b) 2 years c) 3 years d) 4 years
Section - A
91 TW1 UTGa%H @ [fY dos & forg argal YAl U3 &1 9ual 8.
Q) 12 7EW ) 6 7EH @) 3 7 BN) 24 7
The validity of Competency certificate for welder for TW1 course is .................
a) 12 Months b) 6 Months c) 3 Months d) 24 Months
92 aze 1Y afeeT @ oY MAeTF M &......
7) 75 £ 1 #) 50 £ 1 ) 25 £ 1 ey € 70 £ 1 AR
Gap required for wide gap welding is.......cc........
a)75+ 1mm b)50 % 1Imm c)25% 1mm d) 70+ 1mm
93 frafia vdeey afes @ fog amawas M 2.
Y) 75 + 1 fiplRt ) 50 £ 1 fsdh W) 25 + 1 fird ) 70 £ 1 el
Gap required for regular ATW welding is.......ccceeune
a)75% 1mm b) 50 £ 1mm c)25% 1mm d) 70 £ 1mm
94 26 o g afe & forg e wefen @ #.......
7) 4 ¥ 45 fime @) 4 ¥ 6 fre ) 2 9 25 e N s 7 fme
Mould waiting time for 25 mm gap welding is.......c.cccuue..
a) 4 to 4.5 minutes b) 4 to 6 minutes ¢) 2to 2.5 minutes d) 5 to 7 minutes




a) 2 far end bolt b) 2 far end clamps ¢) 1 bolt & 1 clam

d) 4 Bolts

D3 N A Acs e A = Aew A1 by we onel | Hew & 4
Q)4 qH ) 55 @ @ 6 ¢

B |
& es A

No AT welds shall be closer than from any other weld or fish plate joints.

a)dm A c)6m

d)6.5m

AregE iR B Ava @ forg
) TF 1
For reconditioning of CMS crossing
ajH1 b) H 2 c)H3

) 7 4

d)H4

S X B AT D Y ST FOIRIS BT IYANT [ ST &
K ) e LR

For reconditioning of tongue rail series electrodes are used.
a) K b) L oM

)

d) H

I R ... R AR w1g P 8 B foI¢ WA fobaT el € |
Q)%‘o-@aﬁqﬁ% ) doe @ FIW AR fFIR /) des @
Weld trimmer used to remove extra metal from

a) The periphery of weld b) Top & side of weld c) Bottom of weld

&) 70 A BE T8

d) None of these

IR - NFTAS T ... gl

T) 1800 ) 2400
Grade pay of welder — Il is

a) 1800 c) 2400

21) 2800

d) 2800

Section - B

Nm%mﬁm%mmma}ﬁﬁm%ﬁmmﬁh
Q) FTa—343

3) T A BE A

ARG & AU & JTAR |
Q) 5

) g

FEE TN FAfT A fba Gaed 8d 2 |
T) 30 1) 40 ) 10

3N 20

HlE B fod Iga § AR T Ieokd © |
Q) |t 9) sredt ) T

BN) gudt

XIoTATeT AfRfAaH wd 94|
T) 1961 ) 1962 1) 1963

3)) 1968

ITSTATHT (199 & (AWK e g 9% -8 8 |
Q) 9F SR ) afierg, ) T

3)) IR w_9

ITTATET TaR — YOR @ gl ¥ ¥ BT o &1 o el 11 € |
Q) 2 ) 3 <) 4

) 5

ToTd ITSTATST @ YA YGR @ oY qUdd [ & @ M I 8 |
7) & &3 ) @ &= /) T &

$) s @ B T

BTG ISTATHT @ YART Y6R & (o] aifiepe (e &3 ¥ 3 8 |
7) & &3 ) @ &3 LVREES

¥) 37 | B T

gfa a¥ fe=a) fead d AFRIT WIdl 2 |
Q) 12 famR ) 14 famx M) 12 ST

) 10 T
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East Central Railway, Danapur Division

SNPRRT R 3 25% TG, Ber @ asa asMREE-Ill (o) @ ua o a3 e aden

Written examination of selection for promotion to the Post of Tech — Il (Welder) against 25% LDCE quota in

Engg. Department.

Date of Examination: 23.04.2023 Time: 2 &2 /2 Hour Total Marks: 100

wr P Pu SR fora @ yd ArefaRaa Pde vd geat ) e gde 9d |

General instruction: - Please read all the instruction given and against the questions carefully before answering.

wet &1 Iax OMR yRaar & € &3 |
Answer must be given in OMR sheet only.

T3 e & | Fe off west § ol aNg 1 Wew g ol 8, @ Sl Ul G 8 A B |
Question paper is Bilingual. In case of any doubt question in English version will be valid.

T9 9% QRADI § el 110 I§- D[N AWV T § | G A Gaa g b 101 § 110 K 2
This question booklet consist total 110 Multiple choice objective type question. The questions
related to Raj Bhasha are from question number 101 to 110.

o 8 GRed & b 09 1§ gt 110 Y WE ©Y Q fhd 2 |
Kindly confirm the question paper in printed completely with all 110 questions.

Tl 100 e BT & IR @ | IR BIs IFNEAR 100 T W 3M10P BT Ik ol & df g9 Reife # g&H 100
ge B € e A S |
Candidates have to give answer of 100 questions.

3l g% T 91 F 100 TT 101 F 110 BT ITR o D1 [Abed - Gobdl &
Candidates may opt giving the answer of the question number 91 to 100 or 101 to 110.

U HHiD 01 ¥ 90 P AT §
From question no 01 to 90 are compulsory

U §871 91 ¥ 100 T [dPHed "T" §
From question no 91 to 100 is option “A”

U8 SHHIP 101 F 110 TP [ddHed "d1" (IS §
From question no 101 to 110 is option “B” (Rajbhasha)

10

fe 3ngdf 91/ 110 T Q1 [ ed (T & oY) BT VA Sl 8, a1 Hacl U TG 91 9 100 dcb T Hedidh 1pdT ST |
If candidate attempts both the options (A & B) from 91 to 110, only question number 91 to 100 will
be evaluated.

11

IR <0 999 & < & OMR gRaat & Ry 10 Adedl & daa @rel /Nl F1 @ dfcd @ige U= 9§ 73|
A R BT St U9 /TS BT g afidfa g

Candidate has to use only Black/Blue ball point pen while answering the OMR sheet.

12

TR HUAT TE e DY b qg-fAdedid 7 Ry Y SR @ A N yaR [ Pre—vie, Lok, Her,grem
ToT SR A 6 YHR B FAMT B s B IFART T 21 AR fHA yeR @1 gur fear o @ @ W
IR BT qeATHA ol a1 ST |

Candidate may please note the any type of corrections including cutting, overwritten & erasing and
modifying the answer in any way etc., is/are not permitted. In case a correction is made that
answer shall not be evaluated at all.

13

demeft a8 GRRT F¥ & IR T3 /ALTHAR. e R Ad FaR, T&TW, WIE AR I QAR 3¢ 77 e
I W ford | §6e remar fe o v W gw A o gl A S | QW SR wst a1 qeree
&1 fbar Soa ok I S HIAT STYT |

Candidates must endure Roll No., Name, Designation, station and other particulars as specified
may be written by the candidates only at the appropriate places provided for the purpose on the
answer paper/OMR sheet and not anywhere else which will be treated as unfair means and such of
those answer papers will not be evaluated and treated as disqualified.

14

U8 @ anM B A NE BT HETAR WGR T8 B SIYT, Q61 v W IUS [aes g srfare)
gfafeaa @1 ool | wden g @ sfeR el W & golagife Iuawo A WM B Ry 7@ B @ Al
g1 aRaw Bred @l orgafa a3 e @ e F @ e

No malpractice will be acceptable in any form. If any candidate involved, the start department
action will be initiated. No electronic gadgets are permitted inside the examination hall and the
same may placed under self-custody of the invigilator till completion of examination and
permission is granted by invigilator to leave the premises.

15

Pual @ < fo (AQee B gd oAl @ fasr <1 6 @ en ae amad) qOan efcd BYss @) JrqAr a8 8 |




Rgea e @ afreas G "Rl B W FHB! AT ISTAT AT |
Y) 15 fs1 /6 WEA M1 R/ wd W) 2 Ra/s vl &) 11 R /12 7w
Maximum of the paternity leave is days and shall be availed within months.

a) 15 days/6 months  b) 1day/3 months  ¢) 2 days/ 5 months d) 11 days/ 12 months
TS BIAARA UX AV AR AR GF S BV D (U (¥ AT YqA BT G4 far e §
T) THTF-11 ) wHH-7 ) -5 &) gt 9§ aré T
Which number of standard form is used for issuance of major penalty charge sheet on disciplinary
proceedings?

a) SF-11 b) SF-7 c) SF-5 d) None of these

Q)7 ) 9 & s
At present in Indian Railway there are No of zones.
a)7 b) 17 )9
PIPT Te8 U Hedlel 2022 [6d o7 3 o |
Q) | ) geeh ) arcifee &) B
Who won FIFA World Cup football 2022.
a) Spain b) Italy c) Argentina d) France
M dLUSA. 2023 F fpat W fowa ot a1 2
Q)8 ) 12 ) 10 ) 11
How many teams participated in IPL 2023?
a)8 b) 12 ¢) 10 d) 11
RA A F1S AT XAd A8 BT ASTS foberl BNl 2 |
Q) 5 Wi 3 39 Mswcesd W4BC113a )5 BIC 439
What is the width of broad gauge railway line in India?
a) 5 Feet 3 Inch b) 5 Feet 6 Inch c)4Feet11Inch  d) 5 Feet 4 Inch
fAER P IO o1 fobd a1 B [k TR &) 81
Q) HETa ) garaht @) wm <) Mera
Capital of Bihar Patna situated on the bank of which River.
a) Mahanadi b) Indrawati c) Ganga d) Godavri
FETTEA R AlG] §RT Uedl Id o UR U8l ave WRd YU o9 Bl [$w (a2 B 89 el [T |
T) 10 GHR 2022 ) 27 S 2023 ) 11 S 2023 <) 10 3FATIR 2022
Prime Minister Narendra Modi flagged off first Vande Bharat express on Patna - Ranchi route on which date.
a) 10 November 2022 b) 27 June 2023 c) 11 January 2023 d) 10 October 2022
T R 3T 69F WRd @ (0¥ Uod ¥ Red § |
T) sifea ) ofe de &) TR 9) RS
TATA steel plant located in which state of India. '
a) Odisha b) West Bengal c) Jamshedpur d) Jharkhand
ars T B QA
T) 1676 ) 1600 S)) 1750
The broad gauge distance is ;
a) 1676 b) 1000 c) 1600 d) 1750
HART ¥ Ugell GHOR $F &9 dell
Q) 1850 41) 1953 ) 1853
First passenger train in Indian Railway started in the year of
c)1850 b) 1953 c) 1853
S, A ARHISHY BT T A9 a1 & |
)wmaﬁw ) rof w9 sfdsaR W) araraRe wOiRG didEEr @) qrar W sReER
What is the full name of B. R. Ambedkar?
a) Bhimrao Ramji Ambedkar b) Bhimji Rao Ambedkar  c)Babasaheb Ramjirao Ambedkar
Baba Ram Ambedkar

FAPTY 979 D ATAND B fIq AH IJaBIY NG
Y) 15 fa= #) 30 fas

For encasement of leave salary, minimum leave balance should be




a) 15 Days b) 30 Days c) 25 Days d) 40 Days

o) Pt @ oY ol BR N ) Ui N 2 oS R 3/6 Uil B & af el et aar €

Q) 1/2 ) 1/3 M) 3/2 @) 2/7
Adding 2 to the numerator and denominator gives 3/5 then what is the original fraction.
a) 1/2 b) 1/3 . c) 3/2 d) 2/7
15 qd T VD BT AT oo [
R:CH &) AR ) feweh #) BoMgT
The head quarter of ECRS .....oovivnicivnrirennnns
a) Mumbai b) Nagpur c) Delhi d) Hajipur
16 B2 U PR ¥ |
Q) 9§ &) w@dufie afer & o) e & &) A FIE AL
Leave is a Right.
a) True b) Constitutional Right c) False d) None of these
17 U5y @) v 3y et ufoafiar e <wr F o
Y) S &) wra ) a3 BT 3)) sifeferan
Which country won men’s Hockey world cup 2022.
a) Germany b) India ¢) South Africa d) Australia
18 25X ? = 25% of 900.
a) 25 b) 5 c)9 d) 10
19 (10,000 = 50) X 5 = .covrerrvererenes
a) 100 b) 1000 c) 2000 d) 40
20 (33x3)+(3+43) = cvvevrrererennn
a) 98 b) 99 c) 100 d) 33
21 Ife f&ef FaR &1 30 % 12.6 € @ 98 FR BNM
Q) 40 q) 42 ) 45 Q) 35
If 30% of a certain number is 12.6 then find the number.
a) 40 b) 42 c) 45 d) 35
22 U@ &l b9 axg B 27.50 HUT § @Aadl § AR 2860 ©IT § 99 ol § A1 SHHT 1A Grorwra s |
Q) 4 gfdrera ) 8 wfrera ) 5 gfeera 2) 6 ufarerd
A man buys an article for Rs. 27.50 and sale it for Rs. 28.60. Find its gain percent.
a) 4% b) 8% c) 5% d) 6%
23 frgfe @ af & gedt @ o I99 FAT D TR T DAT AE B MWeorerrcrrs Rt Y e | AN B ..
B! @ # o fasar S|
7)o 4 5 M) 2% ) 4
In the year of appointment, LAP shall be credited to the leave account of an employee at the rate
of ____days for each completed calendar month of service.
a)0 b) 5 c)2% d) 4
24 old HHARI U a9 A fba+ a9 ool Bl TR Bl ©
7) 15 &= ) 30 fa7 ) 25 fa= ) 60 o=
Railway Servant is entitled for credit of days of LAP in a year.
a) 15 b) 30 c) 25 d) 60
25 gw@/wﬁ%aﬁwﬁm%gﬁﬁ%@ﬁ ..................... f1 & oM AT I W Bedl BT §PAR
|
7) 20 &7 ) 30 faT ) 80 fo= ) 10 Ra

A permanent/temporary Railway Servant shall be entitled to leave on half average pay of
respect of each completed year of service.
a) 20 days b) 30 days c) 80 days d) 10 days

days in




g e fram R @ forg Rar wmar &)

Q) 10 fR= &) 20 fas ) 15 fas @) 30 &=
Paternity leave is granted for...........

a) 10 Days b) 20 Days c) 15 Days d) 30 Days

27

A A FH qeAl areh AR THN) AABI B GG JABIA W a1 o HHl & |

T) 100 A &) 135 R @) 180 &) 160 fam

Female Government servant with less than 02 children may be granted maternity leave for
a) 100 b) 135 c) 180 d) 160

28

g W A e Rea 9 B Jo@r o @ aw fda |

) WRd ) aifeforn ) wifbear &) ey FBIH
Which country host 2023 ICC cricket world cup.

India b) Australia c) Pakistan d) South Africa

29

PHIC R § o tgier faety @) | &) aravaaddr sl 8 |
Q) 1 ) 2 ) 3 N 4
In Concrete sleeper .........ocvvvveeenns No. of pandrol clips are required.
a)1 b)2 ° c)3 d) 4

30

PDHIT TR H .o AR B G&T B AALIHAT 8K 2 |
Q) 1 #) 2 ) 3 Q) 4
In Concrete sleeper .........oceeivunnns No. of Liner are required.

a)l b) 2 c)3 d) 4

31

FHIT TR H oo R TS P G&T PV AEHAT BT 2 |

Q) 1 ) 2 ) 3 Q) 4

In Concrete sleeper ......cccoeeeerennnnne No. of Rubber pad are required.
a)l b) 2 c)3 d) 4

32

DI BTAC oo YA TR SUAE FNY O & |

) 52 fasam 3k 52 f5um &) 60 fpum @ik 60 fhum ) 90 3R iR 90 IR &) 52 fbuT @ik 60 fpum
Combination fish plate is provided at .......... rails.

a) 52 Kg & 52 Kg. b) 60 Kg & 60 Kg. c) 90R & 90R d) 52 Kg & 60 Kg.

33

60 fhell YT B HATE oo gl
Q) 172 ) 156 foey ) 143 fipf ) 136 Al
The height of 60 Kg. rail is .......c..........

a) 172mm b) 156mm c) 143mm d) 136mm

JAMITABTEA TS B AT TP oo fF M R IuTeT Y AN B |
T) 0.1 ) 10 ) 15 Q) 20
Emergency joggled fish plate are provided at every .........covvvernnnnene Kms.
a)0.1 b) 1.0 ¢)1.5 d) 2.0

35

Hiex ol e wic o ars fhaer g 2 |

) 610 fArT: &) 1000 fAlY ) 100 fAHY ) 10
Length of 1 meter long fish plate is .......cccevvevrvrinnne

a) 610mm b) 1000mm ¢) 100mm d) 10cm

FTETAR XA BT oo et @ iR aeat faan s =Ry |

Q)1 9 2 ) 3 Q) 4
IMR Rails should replace within ..........c..... days.
c)3 d) 4

37

a)l b) 2
g% Hga vord ¥ fda f3faem g
) 3 d) 2 ®@) s Q) 4
In East Central Railway there are .......coceuunue No of Division.
a) 3 b) 2 ' c)5 d) 4

2% 4919 @ fly SeIeY @ Sdcl Algd AR | fhal g0l (A1ex) IR X1 offal &1

T) 600,900 1) 900,1800 - ) 600,1200 €1) 900,1500

For protection of track detonator is placed at distance (metre) in double line section
a) 600,900 b) 900,1800 c) 600, 1200 d) 900, 1500

39

FAGIPIES / 5 Hdhcs TRAT H DI | Y Yol B HIY @ fo1q ST fbar oirel &1

7) el 29 d1) ®ies 2q ) #ew ey ¥) vyt 2q
In electrified /track circuited area ............. tape is used for measurement of rail

a) Steel tape b) Cotton tape c) Metal tape d) Aluminum tape

AT UeAS@yaR A &, &) wlaX & 4 @ qq ... [N F
T) 100 ) 80 ) 60 €) 50

Normally in LWR section distance between two sleepers is
a)100 b) 80 c) 60 d) 50




TG B QW A9 a0 |

) Arde fres e ) ofied-davierga vee el ¥) dwige fves Are &) Torw fres
BIDCIE]
Full form of GFN liner
a) Granite filled nylon  b) Geo-textile filled nylon  c)Graphite fixed nylon  d) Glass filled nylon

e TR B I9ANT BT B |

42
v) AfveT ¥ HIRRM Y W) W RRMA &) Y BTN
Rail tensor is used for
a) Welding b) Destressing c)Rail drilling d) Rail cutting
43 ZAH. I B T AR ;TR |
Q) degT WSS e e €) yfve yar e @) st won Reawe &) arcgrafas velr f&eaer
Full form of USFD
a) Ultra sound field detection b) Unique flaw detection c) Ultra flaw detection d) Ultrasonic flaw
detection
44 W T AcS PT JQUATHS B W et & far aeror frar s |
7) 30 ) 60 ) 902 3 120
In New AT weld shall be tested with USFD within .......... days.
a) 30 b) 60 c) 902 d) 120
45 NETR AZIST ANE ¥ IUANT Bl & |
) 9cs Wed @ gem @ fory @) wiEfT W) Y BT 8 e
Profile grinding machine is used for .......
a) Removing excess weld metal b) Grinding  ¢) Rail cutting  d) Chamfering
46 T AT THD | DS B doTol BT ITANT AT STl & |
NEGE:CL ) dos Ny B AN ) FREA B THS €) 3 A B T
In AT welding technique, wooden wedges are used for
a) Rail alignment b) measuring weld gap c¢) Cleaning of crucible d) None
47 Tl Sy 3R BT R A4 41 2 |
Q) @t des X ) o dos X ) T deg v &) ST des XA
Full form of LWR iS ..cccvvevrercrererenennn
a) Large weld rail b) low weld rail c) long weld rail d) line weld rail
48 v des BT qRT AT 4T 7 |
V) are ofife AfeeT  d) e wfife AR W) Tegfie SRveR e &) T @ P @
AT welding stands form
a) Auto thermite welding b) Alumino thermite welding c) Alumino temperature welding
d) None of these
49 frr=foRaa & 9§ @19 a1 gffie fAsor 3 gea 2|
7) Tegfriem ok Wia ) tgAeaam iR A Jfgerge  ¥) FNRrW ik ImRA sifargs
) Rielrer 3R yeygfiegy offadss
Which of the following are the components of the Thermit mixture?
a) Aluminium and steel b) Aluminium and iron oxide c) Magnesium and iron oxide
d) Silicon and Aluminium oxide
50 afeeT &1 FaT SUANT 7 |
1) sfem iR s ) daa e /) daar sargfT Q) TH | B T
What is the use of welding?
a) Cutting & joining b) Only cutting c) Only joining d) None of these
51 LK G fwmT & aria amar 21
7) gRem &) gonfrafr ) Ffs Q) e
In railway Welder post comes under ................. department.
a) Security b) Engineering c) Personnel d) Medical
52 % Ageics 849 # ygad g ©
v) Fwifie g @) Shewes R ) o1 AEREY) T W B
Liner used in track circulated area are ..........covvennne
a) Composite liner b) GFN liner c) Metal liner d) None of these
53 %ﬁméi;@mmwmgemﬁwm%
) 10 4) 50 e fmr W) 1 Aex Qer feam
b b ) ) 10 WA 3R 1R
Finished weld tolerances are measured by using
a) 10 cm straight edge b) 50 cm straight edge c) 1 m straight edge
= o e e S e L '\ﬁ?)b‘s s ght edge d) Both 10 cm and 1m straight edge
Q) 15 @) 17 ) 23 Q) 26

Maximum tapping time by auto LET5Ts 11T seconds,
a) 15 b) 17 c) 23 d) 25




ST arg AR VRYa g’ MM @ A aar |

Q) 2 A 25fu /@ @) 02 A sl /e W) 2 A afbur /A &) 4 @ a5 /e
Pressure during preheating by compressed Air & Petrol shall be ...

a) 2to 2.5 Kg/em? b) 0.2 to 0.3 Kg/cm? c) 2 to 3 Kg/cm’ d) 4 to 4.5 Kg/cm?
56 IMR @ @ fafda fsar o
Q) 1 %8 B #) 2 Y@ wia ) 3 @ W &) 4 Y3 B
IMR shall be mark with ..........coocenns
a) 1 Red cross b) 2 Red cross ¢) 3 Red cross d) 4 Red cross
57 affer ST g _gram AT FHT AT B |
Y) 16 &) 17 ) 23 @
Minimum tapping time by auto tapping is ... seconds.
a) 15 b) 17 c) 23 d) 25
58 T ¥ R & HE R VG B BH BT SR 8 |
Y) Wi, R B B W fbe ], fowg daaa gar gor @
&) vom T gR R Wide U Y@ A FifeT
) g ¥ @1 W F e
<) ¥ fife w17 3R Acs &1 SwaArTER A fRAwerar
Q. Lack of fusion on foot of one rail end is caused due to
a) Moulds fitted centre to the gap but inclined to the vertical.
b) Cutting of wear resistant grade rails by flame cutting.
¢) Dropping of luting sand into the mould
d) Failure to use the correct thermit portion and welds.
59 oferT A ). dos fbar o 7

Q) Aes BT N B ) Ao BT R Agr W) ¥ & e ganm feAr €) SR 7 @
I TE
Punching mark for A.T weld is done on:-
a) Gauge face of weld b) Non-gauge face of weld  c) Flange of rail _d) None of the above




T &R &% & o0 wafem wqoraen @) sfen e @ o awa § |

T) el A ) AR A= ) ¢ afte € 2@ &) AR dor
For rail preparation, Best quality cutting can be obtained by .
a) Hand cutting machine b) Hacksaw blade c) Abrasive disc cutter d) Any RDSO approved blade

A P AT B fAQ Susw R Y§ B dAarg fpad 27
Q) X @ Q@ s ) ot sfard w =g 5 Mex ) 3 Aew &) 6 A
Length of rail is to be levelled for welding of rail on cess iS......cu.

a) Full length of rail b) Half length or minimum 5 m ¢) 3 meter d) 6 meter

62

A AT AN D A A T A @1 BT B |

V) uffe e ) Ruen gan org o) gue i &) wr wEr
In case of AT welding delayed tapping will cause l0ss of .......c..........

a) Thermite weld b) Molten metal c) Super heat d) Slag inclusion

63

X D A I A8 AR IUD AU D (PR, I, Aq 3R R TP ..o el ared) avE @ A% faar
ST ARG B B A B SuAT Bee Ak ARET W qE Wt e, P ek o B e fF forg ar #w
GENESS

T) 50 ) 60 ) 45 & 75
The rail end face and adjacent sides at foot, web and head up to ............ mm shall be thoroughly
cleaned using kerosene oil and brushing with wire brush to removed all dirt, grease and rust
before welding.

a) 50 b) 60 c) 45 d) 75

64

oS U1 ST D oo e a1g ggen o1 @1 UR fha1 o wadl € |
) 30 ) 35 ) 40 @) 45
First train can be passed after............ minutes after pouring of weld metal.
a) 30 b) 35 c) 40 d) 45

65

Frefomad § @ @19 AfeeT IUBRYT Bl (2%l 78 & |

7) ek ¥R ) afesT o @) et dfe Q) et
Which of the below is not a part of welding equipment

a) Torch burner b) Weld trimmer ¢) Thermal chalk d) Rail thermometer

66

e Araar A0 9 B AT R E |
T) 100 SOECH 4T 6 WA, Ot A URxt & &) 50 WrECw AT 6 WM, G A uESA ®
) 100 warSeH a1 1 q¥, St  UBA & ¥)) 50 SarSew ar 1 ¥, S A uEA &
What is the validity of provisional competency certificate
a) 100 joints or 6 months which ever is earlier b) 50 joints or 6 months which ever is earlier
¢) 100 joints or 1 year which ever is earlier _d) 50 joints or 1 year which ever is earlier

67

HTTHET ¥ 60 fbell 90GCIGH XA BT (ARG HAT SHAT <o gl
Q) 880 1) 800 ¥) 525 Q) 550
Stipulated service life of 60Kg. 90UTS rails in GMT s w.....ccevvveeee.

a) 880 b) 800 c) 525 d) 550

68

Qaugﬁmqmwﬁmaﬁv%a%@wwé—ﬁm%m%ﬁm#mwaﬁﬁmm%l

v) dfen, sfawre @ B # fbe @, fig daaq g gan ©
&) v BT g1 TR RRSe TS ¥dl B FIfeT

@) gfeT ¥a @1 | J e

&) wd ufife w1 iR dos BT ITANTHA H fAther

Q. Sand inclusion in the rail foot and sand burn marks transversely across the rail head
a) Moulds fitted centre to the gap but inclined to the vertical.

b) Cutting of wear resistant grade rails by flame cutting.

¢) Dropping of luting sand into the mould

d) Failure to use the correct thermit portion and welds.

69

TR @1 A T Bl g |
) 4 |1 4 5 |t ) 6 | Q) 3 A

Normal life of detonator is
a) 4 years b) 5 years c) 6 years d) 3 years

70

UF ATSUANR @ Q1Y (Afecd [al ST oo
Y) 1 Y& ®fE #) 2 ¥ B 1) 3 Y® @ d) T A B Tl

An IMR shall be mark with .......c..ccvoninins
a) 1 Red cross b) 2 Red cross c) 3 Red cross d) None of these




x@m%m%ﬁa%mm ....................

Q) 1 X8 B #) 2 ¥s B
A DFWO shall be mark wiih ....................... SRS N o G
/ a) 1 Red cross b) 2 Red cross ¢) 3 Red cross d) None of these
Yy Rz @ waw = W R B o F 1 ey We gw w grfanr aEedoar g ?
/ oA +1fmhd)od+05fnd ) + 0.5 fy &) + 1.0 el
Finished verticals tolerances on 1 meter straight edge at end of straight edge on surface of head shall be
a) 0to +1mm b) 0 to +0.5mm ¢) £ 0.5mm d) £ 1.0mm
78 T WIES @ Bx A 1 WX WT T W GTYd GETOT.co B
T) 0.3 ff &) 02 frf ) 0.5 fanfy &) £ 0.5 frd
Finished lateral tolerances on 1 meter straight edge at the center of gauge side shall be..ccierseseese
a) 0.3 mm b) 0.2 mm ¢) 0.5mm d) £ 0.5mm
74 A TR & ad F 10 AN e T W Aqad TETAM ..o B |
7)o Ro02 A &) odos e A) o W 0.4 firf 3 o & 05 el
Finished vertical tolerances on 10 cm straight edge at end of straight edge shall B sanssions
a)0t0 0.2 mm b) 0 to 0.3 mm ¢) 0to 0.4 mm d) 0to 0.5 mm
75 vyt des (DFWR) @ wrer fifea fsar S .
7) 1 s »i| ) 2 ¥ B A 3 Y B € 4 33 BrA
Defective weld (DFWR) shall be mark with ........cccooeevennne
a) 1 Red cross b) 2 Red cross c) 3 Red cross d) 4 Red cross
76 TP AT Sy D A1 Rifed fHar S e
T) 1S B ) 2 XS B ) 3 Y8 B &) g | g T
An OBS W shall be mark with ......ccceeverenneee.
a) 1 Red cross b) 2 Red cross c) 3 Red cross d) None of these
77 A B I AT B AR BH A BH oo TR BT Y PR @ QAR drell fHar o AT
Q) 10 9 8 ) 6 ) s
During in Situ welding of rails at least .........ccccceeue. nos of sleeper rail fastening should be
Loosened on either side.
a) 10 b) 8 c)6 d) 5
78 AT ARET B AFA H oo B RO WO B HH BRI B |
1) afaRaw sfaxrel &) sryafa T ) AT & ume €) R e fsfaT
In case of AT welding, lack of fusion is caused due to ......c.ceeessruesenene
a) Excess gap b) Insufficient heating c) Before tapping d) Improper mould fixing
79 AT AfeST @ A ¥, THT FAALT oo % HROT BT B |
7) afaRaw sfavrel &) st ifeT &) T | gBe ) argfera Aes fpfasT
In case of AT welding, slag inclusion is caused due tO .........ccsuwnnsens
a) Excess gap b) Insufficient heating c) Before tapping d) Improper mould fixing
80 PN o A G R T R L | —— @ HRYT B 2 |
7) sifaRad IR &) aara AT @) M A wed &) g Aes e
In case of AT welding, shortage of metal is caused due t0 ..........ocusesuense:
a) Excess gap b) Insufficient heating c) Before tapping d) Improper mould fixing
81 20 R @ 38 § 10 T BT U9 TR UTd FETLICHM e BT |
v) £ 03 il ) £ 04 A & £ o5 el N + 10 el
Finished lateral tolerances on 10 cm straight edge at centre of straight edge shall be...............
)£ 0.3mm b) £ 0.4 mm c)£0.5mm d) £ 1.0 mm
82 Y A1 AT ARET B AAA A oo A TP g2 GR GRAT AT @ Sl ARy |
v) Cegfifrm &) P @) e 8) Rer wel
Punching marking should be done on a strip OFf sisavnsrosssons in case of AT welding of rails.
a) Aluminum b) Copper c) Steel d) Stainless steel




WASEEIEN ) Afe da M) ¢ ok @ 2 &) arR o
/ __ s used for rail ends cleaning during welding
a) Steel wire brush b) kerosene oil ¢)Botha&b d) Wire claw
84 ﬁ@uﬁﬁw'mma%mammﬁmﬁammmmmmz FEH B FTAR
T) 1% ) 2% ) 3% &) 5%
The limiting value of defective weld executed by the welder to obtain permanent regular competency
certificate as per TW2 programme is...........o....
a) 1% b) 2% c) 3% d) 5%
85 | SYP W B ¢ AET B A A, XA B Q) GTE B QDA B < @ @A g ey
AT e B QA AR ABE) BT Al |
T) 10 ) 20 @) 6 @) 8
In case of AT welding of rails on cess, full rail length should be supported on at least.....coees
Number of wooden block on either side of proposed weld.
a) 10 b) 20 )6 ' d)8
86 HEROT Yq0T & H .o T4 ¥ (P AR To8 FleR GreT @ air dieg |
T) 4 &) 3 ) 2 ) 1
Weld collar painting to be done once in ..o years in corrosion prone area.
a)4 b) 3 )2 d1
87 = Y 3 O Tee 7 @ oy o R 60 U X B e Sorg fat |
T) 162 il ) 163 fet ) 164 IR ) 1e6 frlt
The minimum height of old 60 Kg rail required to be welded with new rail is ....coeeceeen
a) 162 mm b) 163 mm ¢) 164 mm d) 166 mm
88 T D G o5 I D (O HATED QI 52 FHUT Xl BY AT T o gl
T) 148 ) 149 R ) 150 Arex &) 152 A
The minimum height of old 52 Kg rail required to be welded with new rail is ......cceeecee
a) 148 mm b) 149 mm c) 150 mm d) 152 mm
89 THT T & BT 908 BE D BT H v A @ AT o B
Q) 20 41 30 ) 40 ) 75
Heat affected zone is measured up to ......ccceveeee mm from weld centre.
a) 20 b) 30 c) 40 d) 75
90 TW2 TG @ fo1g Joe} @ folg Argal AT g4 B Qe 8.....
T) 1 A &) 2 |1 ) 3 | ) 4 A
The validity of Competency certificate for welder for TW2 course is .................
a) 1year b) 2 years c) 3 years d) 4 years
Section - A
91 TW1 GIGhd @ fo1g deex @ (oY AradT YA 93 B Jedl B
) 12 wE ) 6 7 @) 3 7N ) 24 78R
The validity of Competency certificate for welder for TW1 course is .................
a) 12 Months b) 6 Months c) 3 Months d) 24 Months
92 q[5S 1Y dfeeT @ foIY AAWS WY ...
7) 75 + 1 frft &) 50 £ 1 forfr ) 25 £ 1 iR Q) 70 + 1 vl
Gap required for wide gap welding is................
a)75+ 1mm b) 50 £ 1Imm c)25+ 1m
5|t ey e ® R o T B : . @70% amm
) 75 + 1 flt ) 50 + 1 el W) 25 & 1 e ) 70 £ 1 A
Gap required for regular ATW welding is..........e......
a)75% 1mm b) 50 £ 1mm
R Py E T g T S 925 imm 4702 imm
V)”“-fﬁ’ﬁ-' ﬂ)ré.sﬁaa W) 2 9 25 fae ) 5 A 7 Ame
Mould waiting time for 25 mm gap welding is.................
a) 4t0 4.5 minutes b) 4 to 6 minutes c) 2 to 2.5 minutes d) 5 to 7 minutes




) 2 ¥ 3 A ) 2 g afr ae¥y @) 1 dee a1 A &) 4 A
Newly welded joints are to be joggled fish plated with................

a) 2 far end bolt b) 2 far end clamps c) 1 bolt & 1 clamp d) 4 Bolts
96 N & Acs f ff o des a1 fvw wie anel A Wex & dmaa 81 Bnl |
7)4TH ) 55 w4 @) 6 un ¥) 65 T
No AT welds shall be closer than .............. from any other weld or fish plate joints.
I a)4m b) 5.5 m c)6m d)6.5m
97 Heagd BT B AHT DAY . gogere &1 SN fhar o |
T) T 1 &) va 2 ) 1= 3 &) va4
For reconditioning of CMS crossing ........c.c..... electrode to be used
ajH1 b) H 2 c)H3 dH4
98 ST XA B AN D g ST oIS BT SuANT [l Sl 8 |
Q) B ) v @ g 4) va
For reconditioning of tongue rail ............... series electrodes are used.
a) K b) L )M d)H
99 I fom W JfaRad €Tg P 8 @ forg WA fbar o 2 |
7) ¥cs @ Ry )a&'a‘»waﬁ?ﬁﬁﬁ ) des B A &) gt A PIE T

Weld trimmer used to remove extra metal from ..
a) The periphery of weld b) Top & side of weld c) Bottom of weld dj None of these
100 JoX — NBTAS T ... 21

T) 1800 ) 1900 +Y) 2400 <) 2800

Grade pay of welder = Il is ..............

a) 1800 b) 1900 c) 2400 d) 2800

Section - B
101 %@W%ﬁmﬂ%mﬁéﬂmmm$vﬁm$ﬁma§aﬁ 2l

Q) IgEe—343 ) rgET—344 :ﬁié‘:'—sm ) g7 | I3 T8

102 w%wﬁw%wwaﬁw%&ﬁw%ﬁ .....................

7) A9 ) @< #ﬁ)a%"f ) g
103 FERTg XTSI | § (e 6w 8N 2 |

Q) 30 1) 40 ) 10 3 20
104 ﬂﬁﬂﬁﬂﬁﬁﬂ?ﬂjﬂiﬁﬁmﬂaﬁﬁm%l

T) \radr ) arodr ) Tad 3 wdl
105 JISTATST JfAIH Ha & |

T) 1961 ) 1962 ) 1963 31) 1968
106 TSTATHT F1g9 @l [ORdR [l J1od WX 718 & |

Q) o9 R &) afierrs, ) Tt ¥)) SR y_w
107 ST TAR — YR @ e § oF @I (e & § arel T4 B |

Q) 2 §) 3 ) 4 3) 5
108 ToTa ToTTST @ VAN YER @ [ auiigd fhd &4 @ 3 3 8 |

1) & &3 ) @ &3 SIREE] Q) 57 A B T
109 BTG TSIl @ YaNT YNGR @ [oQ aifiapd (d & ¥ el & | <

Q) @ & ) @ & ) 7 & ) T 3 o @

110 o @Y fRe feaw ®d HAT il © |
1) 12 RyawR d) 14 R ) 12 SR S1) 10 SRt




ANSWER SHEET OF WELDER QUESTION PAPER ON 12.08.2024 (SECTION-A)
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ANSWER SHEET OF WELDER QUESTION PAPER ON 12.08.2024 (SECTION-B)
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ANSWER SHEET OF WELDER QUESTION PAPER ON 12.08.2024 (SECTION-C)
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